UP Board Solutions for Class 6 Maths Chapter 9 dH

3R FHTR Y@

ST 9(a)

uYg 1.

3T 3TY-UN &1 g 3f § TR 34134 o Jl o IR IGIeR0l gIfoTd |
IWR-

(i) AN & SMHA-TMH & B |

(ii) PHR P BRI & HTHA-TTHA & fHR |

(iii) Th el o T fh TR |

(iv) IS P UL |

Y 2.
fort T | 3R m & THTR XL € | AB 3R CD 3% aid & Thiadd gil &, fe AB = 3 It, Y CD &t TS Jarsu|

- A C h'lr
o S
ml ml
- - D _l"ru
JR-

AB 3R CD &1 JHIR Y137 | 3R m & o9 &l aad g3 &
37c: CD = AB = 3 9HT|

Uy 3.
A o 3md ABCD & AU ford e §

,.1; 7.2 it B
”J!m* W,L
5w 5 Hwit
o a0
el [u

D 7.2 T . C
(i) FTAB || CD B2 T g A il
JR-

1, AB || CD IS 1% il I a3l GAF B |
(i) T AD || BC B2 Afe g A ail?

w.

&1, AD || BC Fifdh 7 ol &1 Aaaq g 99 5 |





